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NUMBER: 3195 SSC PART-lI (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-| b - (o FO L

TIME ALLOWED: 20 Minutes OBJECTIVE Lﬁ"‘E/’,ﬂ 220 = &

MAXIMUM MARKS: 15 15= AF
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Note: You have four choices for each objective type question as A, B, C and D. The choice _V:JC;J’}';..-.« Uiy
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 R
(1) Line segment joining any point of the circle to the centre is called:- _‘abwii;h’hﬂl)i.lﬁ:(?’/a,ﬂo{‘ir_fh (1)
(A) Circumference L# (B) Diameter # (C) Perimeter 4b! (D) Radial segment B
(2) Aline which has only one point in common with a circle is called:- (& Pl AL Sk gl 2)

(A) Sine of acircle  sine ke 7 (B) Secant of a circle secant §e #i»
(C) Cosine of acircle  Cosine ke 70 (D) Tangent of acircle  Tangent ¥/ _
(3) A pair of chords of a circle subtending two Lo SR e i i8It e (3)
congruent central angles is:-
(A) Congruent JKP (B) Incongruent Jﬁb"“,:; (C) Over lapping ..fi,"/ (D) Parallel (i1 "
(4) The measure of the external angle of a regular octagon is:- -q.@mlﬁift)éﬁ)&,_s[. L,r‘?‘" oy i (4)
n n T T
(A) 7 (B) 3 (©) 3 () 3
(5) The number of terms in a cetIUAE ax 4 bxtc=0 abloGlelan  (5)
standard guadratic equation ax? +bx+ec=0 is-
(A) 1 (8) 2 ©) 3 (D) 4
®) If b> ~4ac <0 L ax® ¥ bx+c=0 ondn b2 —dac <0 Si (@)
then the roots of axz +bx+c¢c=0 are- )
(A) Imaginary {:s-"b/! (B) Rational Jbt (C) Irrational {}bkﬁf (D) Natural numbers sl 48
(M o, B iq_t‘!fy/.ﬁ,wbsl 2B 4 2a ;Uﬁujui X2 —x-1=0 abls B o /fl (7)
are the roots of x2 —x —1=0 | then product of the roots 2t and 2B is:-
(A) -2 (B) -4 (C) 4 D) 2
(8) ¥ a:b=x:y thenalternando property is:- ey ath=x: yhoo@®
Wit -2 ® =% ©2=2 oLt =E2
x y by x oy b y
(9) Inaproporttion a:b::c:d, a andd gl d s oayt aibucid € (9)
are called:-
(A) Means ‘,L‘L": (B) Extremes ut') (C) Third proportional €1 (D) Fourth proportional «-¢(#%,
(10} The identity ~eeen( Sx + 4)2 =25x% + 40x +16 <V (10)
(5x + 4)2 =25x2 + 40x + 16 is ture for:- ‘
(A) One value of x Ll gl x (B) Al values of x ”Af.u;':"ft?J x
(C) Two values of x LLysnd x (D) Three values of ¥ L Zysduf x
(11) If A B.then A — B is equal to- wbudi A-B A BS (1)
() B (B) 4 (© ¢ D) B-4
(12) (AUBUC is equal to:- -etnis (AUBUC  (12)
(A) AN(BUC) (B8) (4UB)NC © 4NBNC) () 4UBUO) )
(13) The most frequent occurring abservation in a data set is called:- -q_dlkﬁdr,i. TepnbicwrfolS (13)
(A) Mode ok (B) Median _+te-s (C) Harmonic mean b {74 (D) Mean bidl>
(14) If tan0 = +/3 ,then @ is equal to:- 0=__ 3 wnd=+3 S (149
(A) 90° (8) 30° (C) 45° (D) 60°
(15) sec?® = sec?0 = (15)
(A) 1 -sin%@ (B) 1+ cos?0 (€)1 + tan0 (D) 1 — tan”0
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SSC PART-II (10th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP b -/ (S P
TIME ALLOWED: 2.10 Hours SUBJECTIVE ‘o £210 = =
MAXIMUM MARKS: 60 60 = A
NOTE: - Write same question number & 6»;}!@.{4&.&5 E—,»/,}:;an/:}dlrw:{q Wiz o
and its part number on answer book, as given in the question paper.
SECTION- i.o

2. Attempt any six parts, 12=2x6 Eiferlizige § 24 )y

(i) Define Reciprocal Equation. ' YIaHer® ()

(i) Write the equation in the standard form. ik : . e Byt Urbfels (i)
X = X

e dfaB? +aB 3 (Roots) AL 222 + e +n=0, (£0) =htr B« o (i)
(ii) 1f &, B are the roots of the equation 12 + mx + 5 = 0, (£%0)
then find the value of «3B? + o 2p3
20 +1, 2B +1 -é.[:c.:vbl/u(»»c-v%faﬁé.!;u:f (Roots) uj»L 2x -3x-5=0 ehs P « af (iv)
(v) If @, B arethe roots of the equation, 2x*> ~3x -5=0 foma quadratic equation
having roots, 20t +1, 2B +1

(v)  Solve by using synthetic division if 2 is HLax® —28x +48 =0 el 2 el é J’(:p&f?,:u; (v)
the root of the equation x> - 28x + 48 = o

I - # g
a?, B2 L kebie (Roots) Lﬁ;p_’g_muﬂ (Roots) AL x2 + px + =0 b B o /1 (v
(Vi) If o, B are the roots of the equation x? + px + g =0, form an equation whose roots are 0% B?

(vii) Find a third proportional to ( x — y)2. %3 - 3 (x=2, X =y g7 i
(vii) IfV < R and pos LK e R=3 o vas Wy S (v
when R =3 thenfind the value of X
(iX) Define Inverse Variation. S TAY ()
3. Attempt any six parts. 12=2x6 ey /’E,uzbzlgc;gjf 34
(i)  Define Rational Fraction Sl )
(i) If4=1{0,24}and £ Bx A 4 AxB mB={-13} 4 4={02,4} f g
B={-1,3} thenfind4x B and B x A
(ii) Find @ and b if (3-2a,b-1) =(a-7, 25 +5) S b wa i
(iv) Define a Function. ZEulF (v
v f X=1{1,479} ang ,ér}#XUY»[ XNY % ¥={2,4,59}sX= {1,479 Viow
Y=1{2,4,59} thenfind XNY and XUy
(vi) Find the geometric mean of the observations 2. 4, 8. --\,I/?:‘-"L«sf@ﬁfﬁicﬁ 2, 4,8 =L (vi)
(vii) Define Standard Deviation. E A i)
(viil) Find arithmetic mean for the given data. 12, 14, 17,20, 24, 29, 35, 45 ‘érﬁ*‘mr[}l;b’ﬂrf.{.; (viii)
(ix) Write the formulae to find median and mode from grouped data. _u:’g_ 26 d‘_llr/!‘!”u‘ﬁﬂ“.;lbsd_.ﬂ)’(ﬁ!; (ix)

(21&5)



Aempt any six parts.
Define Radian measure of an angle.
; Find 6 ,when r= 25m, £=45m
iy Define Obtuse Angle.
(iv) Define Chord ofa Circle.
(v) Define length of a tangent to a circle.
(vi) Define segment of a circle.
(vii) Define Circumangle.
(viii) Define a Polygon.
(ix) Define Escribed Circle.

(2)
12=2x6 _é;fotlﬁéﬂi{;&f -4/’-U”’
Eafrgibes 0
(45K =252 L& o ()
Ly i
_é..éfﬁsﬁs..}b (iv)
Sl W
Eafhms
Eflre i
EfSewn i
Eafimdl (i

' SECTION-I (2.2

24=8x3

NOTE: - Attempt any three questions but question No.9 is

-l Qﬁdlfﬁégfagiﬁﬁmﬂf@ay oy
compulsory.
__é J’ LJW’LU)” JE{;JJ}J!’E&hVJu BET (N5

5(A) Solve the following equation using quadratic formula:-
6x> -3-Tx=0
(B) Prove that x3+y3+z3—3xyz=(x+y+z)(x+my+0)2z')(x+w2+mz) f..é'-”"-b" ()

6.(A)  Using theorem of componendo-dividendo, solve the equation

-J«/JQHL/LﬁZ.)UE‘HQtJM‘?! s ()6

1||'Jc+31+,|':lc—3_i
i3~ x=3 3
Tx+4 Tx + 4

Resolve into Partial Fractions.

(B)

Aﬂ(BUC)=(AﬂB)U(Aﬂ(?)-yj;:-:E;'ﬁC ={1,48}

7(A) F4={1,23,456}, B={2468}
and C={1,48} then prove that 4

Find the Harmonic mean for the following data:-

(B)

- —————

(Z’,.vc-1-2){7c+l)2

(3x+2)(x+1) ks

AB={2468} 4= {1,2,3,4,5,6})7 (-7

NBUC) = (ANBHUMUNC)

EPia il Sy fimer (&)

Classes =AUz / 1/ No. of students ENA
33- 40 28
41-50 3
5160 12
61-70 9
71-75 5

8.(A) Prove that Sin°0 = Sin — Sind Cos0

(B) Inscribea circle in a triangle  ABC
Prove that a straight line drawn from

the centre of a circle to bisecta chord (which is

Prove that any two angles in the same segment of

a circle are equal.

with sides.
| AB|=5cm. | BC| =3cm, |C4|=

< t’myf,;};b,d;"m:i_/.i;“" ”'J (nep2) ?JJ( = J‘C"Ld..:"fﬁf “L{ =it

Sin0 = Sind — Sind Cos?0 SE st (-8

L tass ABC &5 ()
3em
-9
not a diameter) is perpendicular to the chord.
OR |

-Ugl.:fz:b:(?EUﬁél)Ja?iuﬁLﬁ.‘gﬁé_ﬂJfé{m?
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Note: You have four choices for each objective type question as A, B, C and D. The choice - :/f;d’}f:.;-, Uiy~
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve guestions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) fa:b=x:y then alternando property is:- el atb=x1y V()
=2 ® == AL LS R SR
x Yy by b y x y
(2) If a:b=x:y  theninvertendo property is:- *‘T--""-J‘Jﬁ;” a:b=x:y Ji (2)
we=2 Bt @Etl.ELE gled
x oy a-b x-y b y a x
(3) Partial fraction of -~ are of the form:- e Aot — @)
(x-1)(x+2) . i (x-1)(x+2)
WAL B g, B A B o 2% B
x-1 x+2 x=-1 x+2 x=-1 x+2 x—-1 x+2
(4) Point (=1, 4) lies in the quadrant. .,.ii,c‘_ﬁu:éj (-1,4) & (4)
(A) | (B) 111 (S Oy IV
(5) If number of elements in set 4 -é.@x:iﬁJng,;kaﬁ, AxB ¥ 2 B sl 3 oSt A el (5)
is3andinset B is2, then number of binary relations in Ax B is:-
@A) 23 B) 2° () 2° D) 22
(6) Mean is affected by change in- et LK il (6)
(A) Value =4 (B) Ratio =’ (C) Origin &/ist (D) Proportion -t
(7) The union of two non collinear rays, which have commen _q_tikf 41 ‘yz-fff*/..,ﬁm"ufbﬁbﬁ/f» (7
end pointis called:-  (A)Anangle s (B) A degree Jf} (C)Aminute = (D) A radian i
(8) sec’d = sec’0=____ (8
(A) 1-sin’0 (B) 1+ tan’0 (C) 1+ cos®0 (D) 1 - tan”®
(9) Locus of point in a plane equidistant from a wq.bﬂf _ ungﬁﬁx!,:c.ﬁdﬁzq KoBie L~ (9)

fixed point is called:- (A) Radius b, (B) Circle +/h (C) Circumference b (D) Diameter A
(10) A line which has only one point in common with a circle is called:- _.;.rugf :xu@}ﬁ.gdﬂibégfi:&ﬁb_@ (10)

(A) Sine of acircle  Sine e 71y (B) Cosine of acircle  Cosine e 71y
(C) Tangent of a circle  Tangent ¥ 7 (D) Secantof acircle ~ Secant B Ay
(11) A pair of chords of a circle substending two congruent R T Uiﬁ:ugﬁ.;,us}wu’-é_:ud ?}Jf e (1)
central angles is:--  (A) Congruent Ji  (B) Incongruent JU7 (C)Over lapping /1 (D) Parallel (/17
(12) The length of the diameter of a circle is how many times the L Aot I Ll ISP skl (12)
radius of the circle? (A) One time tf..g (B) Two times o (C) Three times U’Lﬂ (D) Four times i:fjg
(13) An equation, which remains unchanged _:‘.ﬁ.;.&ikgf;ﬁgcﬂi_/au ¥ L8 x S sblen (13)
when x is replaced by % is called a/an:- (A) Exponential equation .:i:L/JLf.:J
(B) Reciprocal equation =™  (C)Radical equation =hisike (D) Quadratic equation =itafus
(14) Product of cube roots of a unity is:- -.f_..,ﬁJ’La K._fﬂu)'.grf.gjb’ T (14)
(A) O (B) -1 (C) 1 (D) 3
asy Lo Lo LR
a B T Ca B
Wl ei-c o =8 o 2L
o a P o B

o
32(0bj)( < X X )-2019(A)-36000 (MULTAN)



2019 (A) MN-1 96T
SSC PART-lI (10th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-I - eid (o PO,
TIME ALLOWED: 2.10 Hours SUBJECTIVE bl 210 =
MAXIMUM MARKS: 60 60 = A
NOTE: - Write same question number -g.ax;dz;.{.jlrfﬁgf_f @»/,é'/’.’»k‘ulmﬁsgéﬁ}lﬁ &S
and its part number on answer book, as given in the question paper.
SECTION-l Ji.2

2. Attempt any six parts. 12=2x6 Z//utiiélﬂm’c-_.df 24y
()  Write down the names of two methods for solving quadratic equation. fﬁrté.’. UE A 'LL,U’LFJVG s ()
(i) Solve by factorization. x*-x-20=0 x2— x-20=0 -éd’d y.‘,,gu; (i)
(ii) Evaluate. (9 + 4o +40? )’ (9+40 +40% ) yed (i)

(iv) If o and B arethe roots Eedf a?p? ISl 42 —5x+6=0 b p sa S W)
of equation 4x% — 5x + 6 = 0 then find the value of a?p?

(v) Prove that the sum of the all cube roots of unity is zero. -g.b:}‘.;/- KJ;J;(LTLJ{ Syl W)
(vi) Using synthetic division, find the remainder and quotlent when o ﬁu’ x?}*‘:,f{)" lmid”ga.u&/ﬂ}' :}?{} {vi)
( 2 +3x% + 2)+(x-2)

(vii) Define Proportion. ﬁé.@/?&_/b' (vii)

(ill) Find the value of 'x" i (3% —2) 4502 +3):7 Sighpedd e i)

(ix) Find the cost of 8 kg mangoes if 5 kg of mangoes Eeped Ju:‘T(F/‘;K 8 Jng_ 250 = Jur'frlfyf 5/ ()
cost Rs.250.

3. Attempt any six parts. 12=2x6 EjeNplinge ) 34

(i)  Define Proper Fraction. LAl )

i fX={,479}and ek XUY 3y ={2,4,59} 4 X={1,4729 YA )
Y=1{24,509} thenfind XUY

i)y fd={ab} and B={c.d } Ep axB WB={cd}s A={ab YA i
thenfind Ax B )

(iv) Define a subset and give one example. -éumgmg% }Jqé’ (iv)

(v) Write all the subsets of the set {a, b } _gﬂc.f[j’?t?i {a,b} 2 W)

(vi) Define Standard Deviation. L Aise i

(vii) Find Arithmetic Mean by direct method for the following data:- P S lne 3 0 (Vi)

12, 14, 17, 20, 24, 29, 35, 45
(viii) The salaries of five teachers in rupes are as follows. Find Range. -ir}”w -U"J;C,»(ufu!» L,r*lfq,,(awléL {viii)
11500, 12400, 15000, 14500, 14800
(i) Define Mode. ' A
(&1dn)



(2)
4‘.\‘Attempt any six parts. 12=2x6 -éﬂfapﬁélzlg:_d/ -4/ )y

(i) Define Angle of Depression. -éh.g/'w;:},;u Q)
(i) Express angle 315° in to radians, LA AL 3150 iy
(iij) ~Define Acute angle. e (i
(iv) What is meant by Collinear Points? g.,ygc_m?/- (iv)
(v) Define Secant. ,.é - }"JB Foo(v)
(vi) Define Arc of a Circle. Esihm i
(vii) Differentiate between a Circle and a Circumference. -EokdiL WL (vil)
(viii) What is meant by Perimeter? Seslple bt (vili)
(ix) Define Circumscribed Gircle, SEafhmer (v
24=8x3 <0 kL fenl vt §f o
NOTE: - Attempt any three questions but question No.9 is compulsory.
5(A)  Solve the given equation by completing square. 3% +7x=0 S (‘,’AJ:“ }(n.'.‘.afJif‘JﬂdJ ()5

.,gf(')"’:..&fa2+ [32 ;Uﬁujyé x2+px+q=0 =il B :a)’l (h'f)
(B) If @ . B arethe roots of the equation x2 + Px+q =0 then evaluate o2 ; p2

n=6 ....-:*u:/r)l”m M n=4 Bm=2 mcc% _?.q:?}"u’zt;n”l m e JoLiosr ()6
| * A m=432 Ay
6.(A) Mo —and m=2,when n=4,find m when n=6 andfind n when m =432
n

3 2 3 2
(B)  Resolve into Partial Fraction, Lol o ¥ - 2-2 -u_fffd/d:z ()
(x2+1)? (x2+1)2
MB={1,4,7,10}4 A={L357,9} . yo{r234 - _ 10} S (7
A KU={1,2,34-———_ 10}, 4={1,3,579} B-A=BN4A Syle
and B = {1,4,7,10 } then verify that B — 4 = BN 4’
(B)  The following data relates to the ages of AP e SRS IE LA e ( )
children in a school. Compute the mean age.
Class Limits  ss.0(¥1z Frequency =i
4-6 10
7-9 20
10-12 13
13-15 7
Total 50
1+ CosB Sinf
(A ify the identity, =2Cosec RERY A ).
8.(A)  Verify the identity S0t T3 ooy = 2Cosec el (Uh)g

(B)  Circumscribe a circle about an equilateral AL 4 S, é}&uu;%{m,/w ABC &L (L)
triangle ABC with each side of length 4 cm.
8. Prove that if two chords of a circle are congruent -ﬁuxJ-fI.i’idsL*c..}fms?umﬁ?}mﬁg.}bﬁf.é ek -9
then they will be equidistant from the centre. :
OR |
Prove that any two angles in the same segment of LA ‘unén,u:,;:»ﬁbc,g,zé.ﬁ;ﬁé =k
acircle are equal.
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